| Efficiency vs Dxy |
> 0.1
<

S : : : : : : : : :
0,004

S e e e e o
Qo S A A
K O e S S S S Sl S
© Foo : : : : : : : :
0.06 -ttt
s o e e e e
e
I I

P 0 A
O
o+

Rati

=
!

09 56-156-10 =50 5 10 15 20 25

TP dxy (cm)

—s— DQM_V00UT_RO0000000T_Global _CMSSW_orig
Effic 5 —e— DQM_V0001_R000000001__Global_CMSSW_pl08
| Iclency vs Dz | —— DQM_V0001_R000000001__Global_CMSSW _pl075

0.1 —— DQM_V0001_R000000001__Global__ CMSSW_pl07
N . . T T .

0,00 -
L e

Q : : : : :
P08 5 : : % : :
o : : :
.07

()]

S . wﬂ

008 ]

O R [ -----------
003+ oo oo : :

0,02t
00t
o+ |

l__ ---------- - -----------
0 0

10 20 30
TP dz (cm)



	Contents
	Page 1


